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A E Tt g/ cm® 1.67 FrtOE=E Ws 661.8g
FIREE rd g/ cm’ 122 ZKEw = Ww/Wsx 100 = 36.58%
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IV.E AR ER EXArCBRETE : 19.625 cni

EAZE mm 0.5 1.0 15 2.0 25 3.0 5.0 75 10.0 12.5

FEHH ke 32 51 76 106 190 266 368 419 503 —
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Ww W’'s
w= % ss= %
V. C BR
BERE 2030 kg
BEARE 367.87 kg/ cn
C BR 18.12 %

GE) XENTIEKZHAERDIGE (XFRS,




CBR;H|TE NO.2
A4 FETERRLT HERE: S¥F259H28H
HERESR: EBA R

1.HRER

BEAE T— M EARE S

(mm) yid a 13 (kg/cni)
0.5 3.0 45 3.75 31.71
1.0 50 7.0 6.00 50.74
1.5 8.0 10.0 9.00 76.11
20 11.0 | 140 | 1250 105.71
2.5 220 23.0 | 22.50 190.28
3.0 31.0 320 | 31.50 266.39
5.0 43.0 440 | 43.50 367.87
1.5 49.0 50.0 | 49.50 418.62
10.0 59.0 60.0 | 59.50 503.19
12.5 — — — —

CBR=2.5mm (& A& E) 1370 X 100(%)= 13.88 CBR=5.0mm (& A5&E) 2030 X 100(%)= 18.12
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FLE 5 mBlE NO.3
HEg: FEMBEL HERH . S 2498 28H
HERER: ED b

1.HBRER
BRIEmm | aBF+t(e) b.&(e) c.t() EHE® RIEE®)
40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 573.8 573.8 0.0 0.00 100.00
9.5 913.0 543.1 369.9 29.44 70.56
6.7 738.7 4774 261.3 20.80 49.76
4.75 830.5 527.7 302.8 24.10 25.66
2.36 823.7 505.1 318.6 25.36 0.30
1.180 549.0 546.0 3.0 0.24 0.06
0.425 356.7 356.3 0.4 0.03 0.03
0.075 317.3 316.9 0.4 0.03 0
0.0 349.6 349.6 0.0 0 0
a5t — — 1256.4 100 100
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